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trials = 100; 
for pow = 1:15
  n = 2^pow;
  minangle = 180;
  for i = 1:trials
    x = randn(n,1);
    y = randn(n,1);
    angle = 180/pi * acos(x'*y / sqrt((x'*x) * (y'*y)));
    minangle = min(angle, minangle);
  endfor
  disp([n, minangle]);
endfor

2.00000 0.87482
4.0000 16.8946
8.0000 36.7159

16.000 54.869
32.000 57.955
64.000 75.011
128.000 78.256
256.000 79.392
512.000 83.195
1024.000 84.732
2048.000 85.614
4096.000 87.519
8192.000 87.944
1.6384e+04 8.8889e+01
3.2768e+04 8.9228e+01
6.5536e+04 8.9405e+01
1.3107e+05 8.9468e+01
2.6214e+05 8.9661e+01
5.2429e+05 8.9794e+01
1.0486e+06 8.9824e+01
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